Be careful to assemble all components
in the sequence they are presented.

NOTE:
All pulleys are the 4 1/4” diameter Pulleys (26), except where noted.

Low Pulley Cable (35)

; Metal Ball End

133 1/2"

Ball Stop End

4060mm

A. Insert metal ball end of Low Pulley Cable (35) at Low Pulley Frame (AY). Insert metal ball end
of Cable (35) under Pulley (E1).

B. Route Cable (35) over Pulley (E2), and attach Pulley (E2) to the bottom of Pulley Plates (132)
using:
One 76 (3/8”x 1 3/4” hex head bolt)
Two 94 (3/8” washer)
One 91 (3/8” nylon lock nut)

C. Route Cable (35) under Pulley (E3).

D. Route Cable (35) over Pulleys (E4) and (E5).

E. Route Cable (35) through Pulley Holder With Hook (133) as shown. Install Pulley (E6) using:
One 76 (3/8”x 1 3/4” hex head bolt)
Two 94 (3/8” washer)
One 91 (3/8” nylon lock nut)

F. Remove Pulley (E7) from pulley housing. Insert Cable (35) into pulley housing as shown and
reinstall Pulley (E7).”

*Note:
Leave the bolt going through Pulley (E7) hand tight until the end of Cable
Adjustments in Step 21.

G. Remove Bolt (56) from Selector Rod Top Bolt (52), slide Cable (35) through Selector Rod Top
Bolt (52). Attach Cable End Shaft (135) and tighten Allen Screw (136).
Pull Cable (36) tight, so Cable End Shaft (135) fits inside Selector Rod Top Bolt (52).
Reinstall Bolt (56) in Selector Rod Top Bolt (52).

mm o 10 20 30 40 S50 60 70 80 90 100 110 120 130 140

Inch

130

38




